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WRITTEN PRACTICE ANSWERS

1 a.   

 b. Sample: 

2 $10 − $4.19 = m; $5.81

3 168 hours

4 d + 23 = 71; 48°F

5   3 __ 
7
 

6 1, 19

7 $6.91

8 424

9 56

10 38,080

11 $580.80

12 $2.43

13 11:30 p.m.

14 =

15 12 minutes

16 $48.38

17 82

18 0

19 odd

20 B

21 3:49 p.m.

22 2

23  one hundred twenty-three 
thousand, four hundred 

24 $3.05

25 

26

   

  

37

 
  

 ×   8 
}

 

296
 

 
  

 +   6 
}

 

302
   

 Sample: The answer 
is not correct because 
the remainder makes the 
product 302, not 300.

27 a. 100 years

 b. 50 years

 c.   50 ____ 
100

 

28 15 minutes

29 0, −9, −18, −27

30 5 × $2.87 = $14.35
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